
MSS - Anatomy 

Archive
Lecture 12

 

lnguinal canal & hernia 

Done by :
 Aya Ayman 



 Anatomy - lecture (11)

 

 1. If the hernia pass lateral to inferior epigastric artery, reach
scrotum and effect on young patient, it will be :
A- Direct inguinal hernia.
B- Epigastric hernia.
C- Oblique inguinal hernia.
D- Femoral hernia.
E- Umbilical hernia.

Answer: C
2) all of the following is incorrect except:
A) oblique hernia enters deep inguinal ring
B) Inf.epigastric artery lateral to deep inguinal ring
C) superficial inguinal ring in int.oblique muscle

Answer: A

Oblique inguinal hernia ما انذكر معنا اشي عن


